PROPOSAL SCHEDULE						
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	
209 0100	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$25,000.00	
305.0100	Aggregate Subbase	90	Cu. Yd.	\$ 441.00	\$ 39,690.00	
312.0100	Plant Mix Glassphalt Concrete Base Course	405	Ton	\$ 287.00	\$ 116,235.00	
401 0400	Asphalt Concrete Pavement, Mix No. IV	500	Ton	\$ 270.00	\$ 135,000.00	
604.6110	Adjusting Grated Drop Inlet	1	Each	\$ 11,20.00	\$ 11,200.00	
621 7100	Construction Sign with Posts	30	Each	\$ 650.00	\$ 19,500.00	
629 1011	4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 990.00	
629 1012	4-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 5.240.00	
629 1013	4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$_1,900.00	
629 1014	8-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 2,190.00	
629 1015	8-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 1,070.00	
629 1016	12-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 1,190.00	
629 1017	12-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 1,010.00	

HWY-K-4/01/04 P-9

PROPOSAL SCHEDULE						
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT	
629 1018	Double 4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 2,140.00	
629 1019	Double 4-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 3,340.00	
629 1020	Crosswalk Marking (Tape, Type III or Thermoplastic Extrusion)	7	Lane	\$ 290.00	\$ 2,630.00	
629 1030	Pavement Arrow (Tape, Type III or Thermoplastic Extrusion)	19	Each	\$ 250.00	\$ 4,750.00	
629 1040	Pavement Word (Tape, Type III or Thermoplastic Extrusion)	5	Each	\$ 380.00	\$_1,900.00	
629 1050	Pavement Symbol (Shark's Teeth) (Tape, Type III or Thermoplastic Extrusion)	1	Each	\$ 460.00	\$ 460.00	
629.2010	Type A Pavement Marker	L.S.	L.S.	L.S.	\$ 520.00	
629.2030	Type C Pavement Marker	L.S.	L.S.	L.S.	\$ 1,270.00	
629.2040	Type D Pavement Marker	L.S.	L.S.	L.S.	\$ 530.00	
629.2080	Type H Pavement Marker	L.S.	L.S.	L.S.	\$ 610.00	
645.0100	Additional Police Officers and/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$25,000.00	
651 0100	Excavation for Reconstruction of Weakened Pavement Areas	345	Cu. Yd.	\$ 256.00	\$ 88,326.	

HWY-K-03-04M 4/01/04 P-10

PROPOSAL SCHEDULE							
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT		
652.1000	Cold Planing	2,900	Sq. Yd.	\$ 12.00	\$ 34,860.00		
677 0110	Joint Seals, Wailua River Bridge	L.S.	L.S.	L.S.	\$ 60,000.00		
677 0120	Joint Seals, Kapaa Stream Bridge	L.S.	L.S.	L.S.	\$ 62,000.00		
699 1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of This Item and Force Account Items)	L.S.	L.S.	L.S.	\$ 57,900.00		

**SUM OF ALL ITEMS** 

NOTE. Bidders must complete all unit prices and amounts. Failure to do so may be grounds for rejection of bid.

## PROPOSAL SCHEDULE

The bidder is directed to Subsection 108 01 - Subcontracts

The bidder's attention is directed to Section 699 - Mobilization for the limitation of the amount bidders are allowed to bid

If the bid price for any proposal item having a maximum allowable bid indicated therefore in any of the contract documents is in excess of such a maximum amount, the bid price for such proposal item shall be adjusted to reflect the limitation thereon. The comparison of bids to determine the successful bidder and the amount of contract to be awarded shall be determined after such adjustments are made, and such adjustments shall be binding upon the bidder.

The bidder is directed to Subsections 106 12 - Recycling of Waste Glass